Assembly Instruction

Base Kits have two (2), three (3), or four (4) bases.
Align bases as referenced in (Figure A).

FIGURE A

E Attach angled brackets to the (2) outside bases using (2)
#8 x 7/8” pan head screws.

NOTE: DO NOT INSTALL BRACKETS
ON INSIDE BASES

FIGURE B

Tarver
Conference Tables

Package Contents
Hardware.....cccoc v mnsensessessennnnns QY

#8x 7/8” pan head screw 2-8
#8x 1 1/4” pan head screw 26 - 104
#8x 1/14 flathead screw 6-18
#8 x 3/4” flathead screw  6-18
Cantilever bracket 2

Tools Required
Drill (Phillips #2)
Level

NATIONAL

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.
If you have any questions concerning these instructions, please call National Customer Service 800.482.1717.

Frawwituore with Fevgonality”

Telephone 800.482.1717
Fax 812.482.8800
www.NationalOfficeFurniture.com

Part # 3362311
Rev, -

Printed in U.S.A
© 2020 Kimball International, Inc.



Assembly Instruction

Remove the mounting plates for the cross rail members and end cap
H assemblies from the bases. (Figure C)

Tarver
Conference Tables

FIGURE C

n Attach cross rail members to mounting plates with (6) #8 x 1 1/4” flat
head screws

FIGURE D

H Mount crossrail(s) between
bases connecting all bases
using the same #8 x 7/8” pan

heads that they were
attached with when shipped.

NATIONAL

Frawwituore with Fevgonality”

Telephone 800.482.1717
Fax 812.482.8800
www.NationalOfficeFurniture.com

Part # 3362311
Rev, -

FIGURE E

Printed in U.S.A
© 2020 Kimball International, Inc.

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.
If you have any questions concerning these instructions, please call National Customer Service 800.482.1717.




Assembly Instruction

H Attach end cap assemblies to mounting plates with (6) #8 x 3/4” flat

head screws.
Tarver

Conference Tables

P\\_‘-‘—m:
A N
5 0
D @ @
G O
T L] :j’/
0 o
\\_\_\:
FIGURE F

Mount end cap assemblies to the two outside conference table bases
with the wedge pointing down using the same #8 x 7/8” pan heads

that they were attached with when shipped.

NATIONAL

Frawwituore with Fevgonality”

Telephone 800.482.1717
Fax 812.482.8800
www.NationalOfficeFurniture.com

Part # 3362311

FlGURE G Rev, -

Printed in U.S.A
© 2020 Kimball International, Inc.

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.
If you have any questions concerning these instructions, please call National Customer Service 800.482.1717.




Assembly Instruction

Team Lift for Safety : Two or more persons recommended when han-
dling worksurfaces & assembled tables

Tarver
Conference Tables

g (0] With appropriate lifting assistance carefully center and place worksurface
on bases

FIGURE H

n Attach worksurface to conference base using #8 x 1.25” pan head screws.

NATIONAL

Frawwituore with Fevgonality”

Telephone 800.482.1717
Fax 812.482.8800
www.NationalOfficeFurniture.com

FIGURE |

Part # 3362311
Rev, -

Printed in U.S.A
© 2020 Kimball International, Inc.

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.
If you have any questions concerning these instructions, please call National Customer Service 800.482.1717.




